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GENERAL KNOWLEDGE AND TEACHING APTITUDE

 .1

 (4)  (3)M.P  (2) (U.P)  (1)

 (Bikaner)  Camel Festival 



 2024 .2

 (4)  (3)  (2)  (1)

 ____  .3

2010  10 (4) 2010  10 (3) 2005  12 (2) 2005  12 (1)

 34%  .4

 (4)  (3)  (2)  (1)

 .5

 (4)  (3)  (2)  (1)

 .6

 (4)  (3)  (2)


 (1)

 .7

 (2)  (1)

 (4)  (3)

 RTE .8

2010  26 (4) 2010  (3) 2009  26 (2) 2010  (1)

 Bipolar process  .9

 (4)  (3)  (2)   (1)

 .10

 (2)  (1)

  (4)  (3)

GENERAL ENGLISH

11. Choose the correct prefix for the word 'important '

(1) in (2) No (3) un (4) il

12. Identify the wrongly spelt word

 (1) Nationality (2) Security (3) Ritely (4) Spelling
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13. Identify the rightly spelt word

(1) Menister (1) Leeder  (3) Compeny (4) Jealous

14. Fill in the blanks with a suitable article

I want to be ___ politician.

(1) An (2)  A   (3) Or   (4) Of 

15. Complete the sentence by choosing a correct preposition

I have waited ___this opportunity ____ten years.

(1)  Far, with (2) In,atc. (3) Since, for (4) for, for

16. Choose the correct synonym for the word underlined.

We have to be complacent in life.

(1) self cantered (2) self satisfied  (3) self loved (4) self motivated

17. Choose the correct antonym for the word underlined

Not all words of mine are acceptable.

(1) Reasonable  (2) good choice  (3) irrelevant  (4) unacceptable

18. Fill in the blank with a phrasal verb

They ________the indefinite strike after the government appealed them.

(1) called on  (2) called off   (3) called for   (4) called in

19. Identify the correct passive form of the given sentence

She has brought sweets yesterday.

(1) sweets brought yesterday.(by her) (2) sweets are brought yesterday.(by her)

(3) sweets have been brought yesterday.(by her) 

(4) sweets were brought yesterday.(by her)

20. Identify the correct past tense form of the sentence given

I will learn piano.

(1) I have learnt piano (2) I learnt piano 

(3) I am learning piano (4) I will be learning piano.

GENERAL URDU 

 .21

 (4)  (3)  (2)  (1)

 .22

 (4)  (3)  (2)  (1)

 .23

 (4)  (3)  (2)  (1)

 .24

 (4)  (3)  (2)  (1)
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 .25

 (4)  (3)  (2)  (1)

.  .26

 (4 )  (3)  (2)  (1)

 .27

 (4)  (3)  (2)  (1)

 .28

102 (4) 182 (3) 172 (2) 192 (1)

 .29

 (4)  (3) 


(2) 


(1)

 .30

 (4)  (3)  (2)  (1)

 .31

 (4)  (3)  (2)  (1)

 .32

 (4)  (3)  (2)  (1)

 .33



 (4)  (3)  (2)






 (1)

 .34

 (4)  (3)  (2)  (1)

 .35

 (2)  (1)

 (4) 


 (3)

 .36

 (4)  (3)  (2)  (1)

 .37

 (4)  (3)  (2)  (1)

 .38

 (4)  (3)  (2)  (1)

 .39

 (4)  (3)  (2)  (1)

 .40

 (4)  (3)  (2)  

 (1)
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4

MATHEMATICS

 1. 414 213 5624...... .41

 (4)  (3)  (2)  (1)

 E .42

E = {x :   x }

1 (4) 2 (3) 3 (2) 0 (1)

 P  'O'  APB  .43

  
75° (2) 45° (1)

100° (4) 120° (3)

   .44

(4) (3) (2) (1)

 5 .45

8.5 (4) 8 (3) 10 (2) 7.4 (1)

 px2 + qx + r = 0  .46

q2 = 4pr (4) q2 = 4p2r2 (3) q2 > 4pr (2) q2 < 4pr (1)

 ,..........  .47

(4) (3) (2) (1)

 -x .48

(x, y) (4) (x, x) (3) (x, 0) (2) (0, x) (1)

 .49

B      A

(i sin 45 (i

2 (ii (ii

1 (iii tan2 45 + tan2 45 (iii

(iv tan 600 (iV

A(i) - B (iv), (A) (ii) - B (iii), A(iii) - B(ii), A (iv) - B (i)      (1)

A(i) - B (iv), (A) (ii) - B (ii), A(iii) - B(i), A (iv) - B (ii)      (2)

A(i) - B (iv), (A) (ii) - B (ii), A(iii) - B(iii),  A (iv) - B (i)   (3)

A(i) - B (iv), (A) (ii) - B (ii), A(iii) - B(iii),  A (iv) - B (iv) (4)

O

Q

50
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 x  EC = x  1  AE = x + 2 DB = x  2 AD = x   DE || BC  DABC .50

6 (4) -6 (3) 4 (2) 4 (1)

  .51

(4) (3) (2) (1)

 Square number  .52

3.8 (4) 1.0 (3) 6.25 (2) 25 (1)

 .53



 (4)  (3)  (2)  (1)

 24  3900  36  3150  175 .54


 400 (4)  325 (3)  250 (2)  100 (1)

 x   .55

5 (4) 32 (3) 10 (2) 6 (1)

 'x'  .56

360 (2) 230 (1)

330 (4) 240 (3)

   11  .57

 (4) (3) (2) (1)

 .58

4 (4) 3 (3) 2 (2) 1 (1)

 .59

B A         

(i  (A

(ii  (B

(iii  (C

(iv  (D

A(i) - B (ii), (A) (ii) - B (ii), A(iii) - B(iii), A (iv) - B (iv)  (1)

A(i) - B (iv), (A) (ii) - B (i), A(iii) - B(ii), A (iv) - B (iii)  (2)

A(i) - B (ii), (A) (ii) - B (iv), A(iii) - B(i),  A (iv) - B (iii) (3)

A(i) - B (iii), (A) (ii) - B (ii), A(iii) - B(iv),  A (iv) - B (i)  (4)
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 (co-prime)  .60

10, 100 (4) 15,18 (3) 5, 36 (2) 3, 9 (1)

PHYSICAL SCIENCE

 .61

  (2)  (1)

 (4)   (3)

 .62

 (4)  (3)  (2)  (1)

 .63

 (4)  (3)  (2)  (1)

 .64

 2.6 (4) 2.25 (3) 2.5 (2) 2.27 (1)

 n 5  .65

7 (4) 6 (3) 4 (2) 3 (1)

 I  .66

 II 

 (2)  (1)

 II  I  (4)  II  I  (3)

 .67

CH4 (4) NH3 (3) BF3 (2) BeCl2 (1)

 
 .68

 (4)  (3)  (2)  (1)

 .69

 (2)  (1)

 (4)  (3)

 .70



 (4)  (3)  (2)  (1)

6



BIOLOGICAL SCIENCE

 .71

(behavioral  (Amphibians) 




 adaptation) 

Aestivation  (2) Hibernation  (1)

Migration  (4) Camouflage  (3)

 .72

 







 (4)  
 (3)  (2)  (1)

 .73







 (1)




 (2)





 (3)

 Penicillium notatum 





 (4)

 .74

 (2)  (1)

 (4)  fight or flight  (3)

 sperm  .75

 (4)





 (3) (Testes) 



 (2)  (1)

 (Ghrelin)  .76

 (2)  (1)

 (4)  (3)

 Natural Selection  .77

 (2)  (1)

 (3)

 Artificial Breeding  (4)

 Eco-friendly  .78

(Monoculture)  (2)   (1)

 (4)  (3)
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 (A)  .79

 :(R) 
 (1)

 (2)

 (4)  (3)

 .80

 (2)  (1)

 (4)  (3)

SOCIAL STUDIES

 .81




 (2) 


 (1)

 (4) 


 (3)

 HDI .82

Human Development Index (2) Human Development Institute (1)

 Health Development Index (4) Human Development Industry (3)

 GDP .83

 (1)

 (2) 

 (3)

 (4)

 .84

 (4)  (3)  (2)  (1)

 'V' .85

 (4)  (3)  
 (2)  (1)

3  3 R  .86

  (2)  (1)

 (4)   (3)

 1974 .87

 (4)  (3)  (2)  (1)

 .88

1949  25 (4) 1949  26 (3) 1950   26 (2) 1950  25 (1)
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 .89

 (2)  (1)

 (4)  12  (3)

 .90

31 (4) 30 (3) 33 (2) 28 (1)

 .91

 (4)  (3)  (2)  (1)


 .92

 (4)  (3)  (2)  (1)







 .93

 (4) (2)  (1) (3)  (2)  (1)

 .94

 (4)  
 (3)  (2)  (1)

 1939 .95

 (2)  (1)

  
 (4)  (3)

 (WTO)  .96

 (4)  (3)  (2)  (1)

 .97

Troposphre (4) Stratosphere (3) Mesosphere (2) Thermosphere (1)

 .98

 (4) 2  1 (3)  (2)  (1)

 .99

 (4)  (3)  (2)  (1)

 .100

  52(4)  61(3)  44 (2)  42 (1)


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